T o e em et A b AT R M Yt T - Jovp—. m—— . ——— H

87 x 8 x 5/8” Cable Assenbly [E770) S | | B - S | ' NERAL NOTES
| ‘ : pe 3:1 Max, 4:1 or ¢ Desirable : - . Edge of graded shoulder = - |
Bearing '— — [ ‘ , - flatte ' __=£ dge of g v | : ! 1. Wood posts are reguired with the Beam Eating Steel | .
_ rarai | extt / Groundline strut IE7e° ' * —_— — L_‘ Terminal (BEST). . .
ua : | | 2. All botits, nuts. lies., cable anchors, and
3102 away fron , g 6" x 8 Vood CRT Posts (posts 3 through 7) ° bearing plotes shatl be gaivanized. :
traf .%ﬁ, '~ Calble anchor box |E761{ ST N : . ' N NyYELLOW |
B | - _ - o ] | s ! 3. When the Bean Eating Steel Terminal Is selected as
(ef?\‘ ' o - ' : : ' . a the end trectment for MIGF installation, the MBGF will
npact Head B : A ' ' K v - ™ & g be Flored ot o rate of 50:1 over the first S0 feet of the systen, if needed,
_.— ' . Y ' P o to prevent the BEST [mpact head from encroaching, as shown at boftom left.
. \ : : ) o 2 4' BLACK ll’hctf‘nr:'ney b: :rcn:::dwm t;: lEm?t::' Porhspsac ; r}?v.
L-—-—] #1 Deep bean guardrail [E1200] > Deepiea =) < | rate il be used 03 curb sechions where e curb face is aligned with
23'-10 1747 - < o e n guardrail [E1208) i i % y the foce of the guardrail. (Ses DETAIL 'A. ,
o ' - 4. The steel tubes shall not pratrude more than 4 inches above

PLAN {Rotata 90° where approach o ' ground (measured along a 3 foot cord). Site ;rndinp may. be

| _ ffaffic'is on right ) necessory fo neet this requirernent. -

. o : - ' ' , - - - 3. The steel tubes may be driven with an approved drivin ad.

0 , TRAFFIC ‘ . | . End payment for ‘Spedal Design . ém. FT._of qudrdrail = : They shall not be zrlm w\lrth the wood post the tube. If
. * 1. ‘

in
the stee! tubes are plated in drilled holes. batckfitl

' Guardrail Anchorage Without Flare? o | bk -
) Do qot attach rail _to post 1 or 5. g ' 9 B NOSE STRIPING DETAIL 2‘;3’[:::..‘2““ be satisfactorily compacted to frevent tube
- Black gloss enamel ink scresn printed on ; - ;
’ | sensitive engineer grade refiective 1 6. When rock excavation is encountered, a 12 inch diometer post
) Level ‘A : sheeting, 1. hole, 20 inches deep,may be used if :Rproved by the Eagineer..
' q) @ @ ; @ @ ' . @ Stn.ndard | A (SEC_T'ON 913) ' T Granulor f'ntw-mt' vn'll-go placed in the hottonyol-‘ the e
{ 6'- 3% 6'- 37 6'- 3 . 6'~ &= 9 6'- 37 line posts | cggroxtmttl 8 1/2 inches deep to provide dro.lnngi‘
: jt Yot oot o ot et oot s 3 _ : ' The steel t sieeves vill be fileld cut to 20 Inc in '
v t - . : . ' . ' : : o length, placed in the hole and backfilled with adequately
I | A | . 8. Uval shidr. | I b _ | Lo - . - conpacted material excavated from the hole. \
E:g 32:':".!8 ' : - but:on' head , : o _ ' _ 7. The breakavay coble assembly must be taut. A locking device
- ' : 3/8° Dia, x 1 1/4 'G'j“c Reflectorized Washers (vice grips or channel lock pliers) should be used to prevent
' - - A : > - bolts |nssmae|a. nuts {NOSO ~Optional splice .~ ngin Here. ' , the cable From twisting when tightening the nuts.
I N ' H , > 1 i +V ' o Bl The wood blockouts shall be ‘toe noiled’ to the rectongulor wood
' ‘.Fm - ! | A -] ; ' B posts to prevent them from turning when the wood shrinks.
- | - | | : | 9. DE'I;AI{..'.'ﬁ;In:t:;'letlom the sg: lltub:ls en;ﬁs:st:'ml&bbo ﬁ-
RN - ' ' : ' Insta a ~proper ground elevation n curb.,
[ | 111 11 b I E | The posts will thern r-oquqrn field drilling new holes to
‘ j : - | | 4.1 1| i Py | :ﬁ:m“h:h. :Ol} &mtlcm“t{:: bo%:':o nam%::n
. . - . r hei o rail abaove .
{ E779 ' ‘ =‘=: ﬁ ::-: f"l ﬁ: II I oxcn'g:o?.post l:ghgth above t:' rail witl hgumv;.:“if directed .,
. ' (| [ 11 || (I the Engineer,
HE Y- 8 & : § & 8} ke
I} Box ! : .
- . Ly | | ' |
v A : | B 3/4* Dia. st hole with
Groundline strut [£780 po ‘

5/8“ Dia. x 18* [§581802] bolt & H.G.R. nut [NOSO]

. ELEVATION
: '1 5/8* 0.D. washer [V0S0{ under nut only

* SEE SEPARATE DETAILS FOR REQUIRED NOSE STRIPING.

!
‘

v

6”x8% Vood Blockout P673

Vood post [P65D] -

, Deep bean guardrai i [E1200] . 3/4° Dia. hole
L Pipe slnvo N , _
17 Hex P1iJFFF!I - | b . l,/i’ﬁF
t washer [V100 :EI,;“E‘;?O Nut& 7 /8" Die. x 10" Lg. ., BEST Bill of Materials 2 1/2” Dia. hole 1
Ground Lline .‘ ‘ (Vosher :;: o nuty oL Ny | E1200 |1 |#! Deep Deam Guardrall (26°'-6 1/2°)¢12 Ga.) 3747 Dia. hole | ’_*,
: ' under v f Slope: {0+ E1202 |1 |%2 Deep Beam Guardra:{ (13°-6 1/273¢12 Ga.> :
| N o |  or Tiatter £730 | 2 [Stewl Tube - 6°x 8/x 6 '-6°% /16 "
8’ x 8% x S/8" - 5/8” Dia. x 9 t/2* [{Sage5dl ‘ : . Y 2 P630 | 2 [Wood Posts ~ 5 1/8 “x 7 1/2 "x_43°
Bearing P [E750 hd. bolt & H.G.R. nut [NOSO y - | N KR ﬁ "’ P310 | S |6 x 8” x 8’- 0° Vood CRT Posts .
g ‘ | W/2 woshers(Wos0] 3 1/2 Dia. < o P673 | S 16" x B” x 14° Vood Blogkouls ___
47 ' : ' ‘ : breakaway o ' E740 [1 {Pipe Sleeve - 2° Std. Pipe x S 1/2
oo ; $/8” Dia. » 7 1/2° [B380734] _ holes e E750 | 1 |Bearing Plote - 8° x 8" x 3/8°
o /‘1 I/B' Dia. , \o 1 .
JEF TV Hote LN hd. bott & H.G.R. aut(NOSO] : e N O B €761 |1 [Cable Anchor Box
| 1 : o , | | , | E770 {1 [Cable Assenbly
8 x 6” x 3/16" x 6'-6~ B | - E780 ]| | |Groundline Strut
: Steel tube : 1. o | ‘ £3003 | 1 | DEST Impact Head
BEARING PLATE | | | | . DR o - ! o HARDVARE
L | SECTION A-A:’ SECTION B-B S . BS80754] 2 [5/8°x 7 1/2° Hex Hd. Boit (bottom of tubes)
PARTIAL VIEW AT POST ™ (ot post W2y , S (Typ. at posts 3 theu 7) » BS80934] 2 [5/8°x 9 1/2° Hex Hd. Bolt (Top of tubes)
) ’ . : Posts 3 thru 7 oﬁly are | oS0 [10]5/8° Flat Vasher (2 ea. at Tubes + 6 Posts) .
' | CRT posts. . BS81002] 1 {5/8“x 10* H.G.R. Post Bolt ¢(Post 2) '
. | | . | | 8581802 3 [5/8°x 18 H.G.R. Post Boit (Posts 3 through 7)f a | - Posts | and 2
-. | | . | | B3@0122] 16 |3/87x 1 174 H.G.R. Spiice Bolt | | e e an of ooty
‘ | o | . NOSO 126 [5/8° H.G.R. Nut (Splice-16. Tubes-4, GR-6) : o
Face of 37'gat 50:1 Flare rate #L_’J NOTE! , - £330 | 2 |3/8*% 3° Lapg Screw L T | |
curb - 1 "N100 | 2 | 1” Hex Nut (Anchor Cobled. 5
: ! Tapered Installations are to be used only - : ———rean T
' . ‘ - where specified, typically fo prevent pro- vigo 12 11" Vasher (Anchor Cable) , "= . 4
' H H ’ - . trusion over curb face or to prevent encroach- N B N T
‘ - , a H ) ment within the Shy Line" offset distance, :
: DETAIL A N C : , | . ~~_ Special Design Guardrail Anchorage Without Flare, ‘ ' .
Taper ot curbed locations, . : o ) ' S . as showr;:‘ sﬂg'l: baesg accordance with;B-E-S-T"Sysfems,~ o SP ECIAL MIGN £
| . | | . meeting NC requirements and as approved by f
) : S : ‘ . S . o the FHWA, The Contractor will be responsibie for ob- GUAR DRAIL ANCHORAG
&m H A | - | - - taining units from a licensed distributor. | } A
' H | B . | - | , I See separate details for ALTERNATE A. WITHOUT FLARE
50:1 Straight Taper - _ ' ! . H :E- H _H 8 B A B A O e | | j (ALTERNATE . B)
» 23’ ¢6° - 3% Spa.) MIN.25 * (i' - 37 $pa.) " Varies (See Plans).

DETAIL B | | - | B | | | " |
(Taper at reduced Post Spacings,) - , R | R . o 1 - - | - __May, 1987}

t




